

Name: Anuge Endri Vanessa

Course: Mat 104

Matric Number: 1911115011096

$$y - 3x - 2 = 0 \quad \text{and} \quad 3x + x + 9 = 0$$

Let $B = y - 3x - 2 = 0$

$$\frac{dy}{dx} = 3 = 3$$

$$\frac{dy}{dx} = 3$$

Let $k = 3y + x + 9 = 0$

$$3 \frac{dy}{dx} + 1 = 0$$

$$3 \frac{dy}{dx} + 1 = 0$$

$$\frac{dy}{dx} = -\frac{1}{3}$$

\therefore B h k i.e. $y - 3x - 2 = 0$ is perpendicular to $3x + x + 9 = 0$

2 $3y - 4 = 2x + 3$ and $y - 5 = x + 6$

Let $C = 3y - 4 = 2x + 3$

$$3y - 0 = 2 + 0$$

$$\frac{dy}{dx} = 2$$

$$\frac{dy}{dx} = \frac{2}{3}$$

Let $D = y - 5 = x + 6$

$$\frac{dy}{dx} - 0 = 1 + 0$$

$$\frac{dy}{dx} = 1$$

\therefore C h D

i.e. $3y - 4 = 2x + 3$ is not perpendicular to $y - 5 = x + 6$

$$3x^2 + y^2 - 11 = 0 \text{ at the point } (1, 1)$$

$$3x^2 + y^2 + 3xy - 11 = 0 \text{ at the point } (1, 2)$$

$$\frac{dy}{dx} = 2x + 2y \frac{dy}{dx} + 3[x \cdot \frac{dy}{dx} + y] - 0 = 0$$

$$\frac{dy}{dx} = 2x + 2y \frac{dy}{dx} + 3x \frac{dy}{dx} + 3y = 0$$

$$\frac{dy}{dx} = (2x + 3x) = -2x - 3y$$

$$\frac{dy}{dx} = \frac{-2x - 3y}{2x + 3y}$$

$$\left. \frac{dy}{dx} \right|_{x=1, y=2} = \frac{-2(1) - 3(2)}{2(1) + 3(2)} = \frac{-2 - 6}{4 + 6}$$

$$M = \frac{-8}{7} \text{ or } -1\frac{1}{7}$$

$$y - y_1 = m(x - x_1)$$

$$y - 2 = \frac{-8}{7}(x - 1)$$

$$7(y - 2) = -8(x - 1)$$

$$7y - 14 = -8x + 8$$

$$7y + 8x - 22 = 0 \text{ [Equation of Tangent]}$$

~~$$M = \frac{1}{7}$$~~

$$y - y_1 = \frac{1}{m}(x - x_1)$$

$$y - 2 = \frac{7}{8}(x - 1)$$

$$y - 2 = \frac{7}{8}(x - 1)$$

$$8y - 16 = 7x - 7$$

$$8y - 7x = -7 + 16$$

$$8y - 7x = 9 \therefore 8y - 7x - 9 = 0 \text{ [Equation of Normal]}$$